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4.4 Properties of Definite Integrals (part 2)
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The (signedjarea under the curve y=f(x) between
= =bh i b
x=a and x=b is j& VAN
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Consider a rectangle over [a,b] of height h
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the width = |5 — o

the area = |, [lfcd

What height should the rectangle be so that the
area of the rectangle equals the area under the curve?
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The average value of f(x) between x=a and x=b is
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Ex Find the average value of f(x)= 1-x>from x=-1 to x=1
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Ex Find the average value of f(x)=3x+7x from x=0 to x=4
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Ex The weekly sales of a given product was shown

to be S(t) = 8e ~in dollars, t weeks after launch.

Find the average sales between weeks

2 and 6 (t=2 and t=6).

| | b
CW:{\J snles = ”(_)T?__*B Beto{f

2 /
- |l ¢+ [°®
I P
t|b
= .Ze l;)_
/ > .,
< Le’-Lle”

i

L HO3 4288 — 2 73390

= B0¢ . 857¢ — 14./730

= 7972 .0794
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